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1. Introduction

This document is to give description and solutions for the issues on extended dynamic allocation for high multislot classes’ mobiles.
2. description of the IsSuses and solutions
Current 3GPP TS 45.008 (Radio subsystem link control) [1] allows optionally skipping the last transmission burst in the last frame of the block period preceding the idle frame for the base station identification code (BSIC) decoding. It results some issues on high multislot classes mobile such as class 12 mobile.
The issues are:

3GPP specifies the option to skip one transmission burst to synchronize the adjacent cells. There is no mention of the impact on the data services. During a GPRS multislot packet data transfer, a Mobile Station may skip the last transmission burst in the frame immediately preceding the idle frame in order to synchronize the adjacent cells.
For non robust coding schemes, this always results in lost data because the correct RLC/MAC data block can not be decoded with only three bursts. This will result NAck to the RLC/MAC data block and system has to ask data retransmissions which would increase delay for data.

This solution is to optionally skip the last transmission burst in all the frames of the block period immediately preceding the idle frame, in particular when the coding scheme is not robust enough to allow decoding with only 3 bursts as shown in Figure 1.
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Figure 1 Description of the new solution
The delay saving with the new solution is shown in Figure 2.
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Figure 2 RLC Acknowledged mode – 4TX – non robust coding scheme 
Besides the benefits mention above, there are other benefits. The solution will reduce current drain (power consumption) from mobile battery as shown in Figure 3.
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Figure 3  Reducing Current Drain in 4TX
With the new solution, it also reduces the corrupted IP packets if the RLC/MAC is working in unacknowledged mode as shown in Figure 4.
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Figure 4 IP packet corruption rates
3. Conclusions

With the new solution, high multislots mobiles can reduce MS power consumption, reduce the delay for data delivery and reduce the IP packet corruption rate. Comparison between current solution - skipping one burst and new solution - skipping the whole block during a 4TX packet data transfer in EDGE MCS-9 with assuming IP packet size at 1500 bytes, the benefits are listed below:
· Impact on current drain (power consumption): reducing 3% of TX bursts

· Impact on data transfer throughput when performing BSIC action:

· RLC Acknowledged
· Saving about 200ms jitter (time for retransmission)

· RLC unacknowledged for TCP sessions
· Prevent data corruption: about 40% IP frames were corrupted with current solution
· Increasing data average throughput by factor two
· Reducing jitter significantly (time for TCP retransmission)

Please note that although Class 12 mobiles are used in this document, the solution is applicable to many high multisolts mobiles such as 22-23 and 27-45 

Therefore, Motorola suggests improving the current specification 45.008 and allowing mobiles to skip the transmission of the radio block on the last transmission timeslot in the block period immediately preceding the idle frame.
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